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PART - A

Spotting Errors

Directions : Each item in this section has a sentence with three underlined parts labelled (a), (b) and (c).

Read each sentence to find out whether there is any error in any underlined part. Indicate your response in

the Answer Sheet against the corresponding letter i.e., (a) or (b) or (c). If you find no error, your response

should be indicated as (d).

1.

20

Over long periods of time, layers of sediments builds up to a height of a few kilometers.

(a) (b) (©)

No Error

(d)

When a gasis cooled down it turns into a liquid from a process called condensation.

(a) _ (b) (©)

No Error

(d)

If you want to know the news you can read a newspaper. No Error

(a) (b) (c) (d)

Columbus made his first voyage from Europe to America on 1492.

(a) (b) (c)

No Error

(d
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5.

7.

8.

9.

10.

Whenever the sky is clear, you can see the stars in the night. No Error

(a) (b) () (d)

I'm not working tomorrow, so I don’t had to get up early. No Error

(a) (b) (c) (d)

She didn’t tell anybody about her plans. No Error

(a) (b) (c) (d)

She wouldn’t have has an accident, if she had driven carefully.

(a) (b) (c)

No Error

(d)

I will watch film if I finish the work in time. No Error

(a) (b) (c) (d)

In 1989, the government did an about-face and Iran restored it’s family planning program.

(a) (b) (c)

No Error

(d)
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Synonyms

Directions : Each item in this section consists of a sentence with an underlined word followed by four

options, (a), (b), (c) and (d). Select the option that is nearest in meaning to the underlined word and mark

your response in your Answer Sheet accordingly.

11. During the pandemic the indigent people had
to suffer a lot.
(a) very poor
(b) opulent
(¢) solvent
(d) prosperous
12. She had no idea what made him angry in one
minute and jovial the next.
(a) aggrieved
(b) melancholic
(¢) doleful
(d) mirthful
13. It is sheer lunacy to drive a car in this frosty
weather.
(a) prudence
(b) normalcy
(¢) insanity
(d) sanity
14. Operating on a child with cancer needs
meticulous planning and teamwork.
(a) strong
(b) long
(¢) playful
(d) scrupulous
15. The thrill of over-speeding the vehicle can be
exhilarating, but it is important not to take
the consequences lightly.
(a) humdrum
(b) dreary
(c) exciting
(d) agitating
ASGT-F-ENG (4-

16.

17.

18.

19.

20.

A)

The redemption will now depend on his new
strategy of inclusiveness.

(a) retrieval
(b) forfeiture
(¢) corporation
(d) desecration

Only three candidates are now in contention
for the title.

(a) involved in dispute
(b)
(¢) chance of winning
(d)

in agreement with each other
amiable to each other

All my fishing paraphernalia is in the car.
(a) boxes

(b) accessories
(c) fuel
(d) food

The public watched in astonishment as he
took a sudden jump from the bridge.

(a) anticipation
(b) hurriedly
(c) wonderment
(d) calmness

Drinking inordinate amount of liquor is not
good for health.

(a) temperate
(b) exorbitant
(c) moderate
(d) regular



Ordering of words in a sentence

Directions : Each of the following items in this section consists of a sentence, the parts of which have been
Jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four sequences
namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the sentence correctly and

mark your response accordingly.

21. because I feel you remember it better = when you write something,

: Q R
I make at least three drafts of a song
S

The correct sequence should be :

(a) SPRQ

(b) RQPS

(c) QRSP

(d PRSQ

22. for hours in the shop a gunman who held ahostage demanded ransom of ¥ 10 lakh

P Q R S
The correct sequence should be :
(a) SPRQ
(b) RQPS
() QRPS
(d) PRSQ

23. living in Russia  country immediately = Ukraine has urged its citizens  to leave the
P Q R S

The correct sequence should be :

(a) SPRQ
(b) RPSQ
() RSQP
(d) PRSQ
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24. ripping roofs off houses and raising fears of

coast of Madagascar in the early hours,

P Q
cyclone Emnati crashed into the southeastern  flooding and food shortages in the region
R S

The correct sequence should be :

(a) SPRQ
(b) RPSQ
() RQPS
(d) PRSQ

25. ecology is protected and aquatic life thrives

we need to utilize the resources of water

for different purposes while

Q

ensuring that its natural

R S
The correct sequence should be :
(a) SPRQ
(b) RQPS

(c)
(d)

QRSP
PRSQ
26.

very difficult  the poor visibility

made the movement of traffic

due to fog

P Q

The correct sequence should be :
(a) SPRQ
(b) RQPS
(c)

(d)

QRPS
QSRP

ASGT-F-ENG
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27. avenues for the patients to indict  but rarely is it the other way round

P Q
there are multiple legal  the doctors
R S

The correct sequence should be :

(a) SPRQ

(b) RPSQ

(c) QRPS

(d) QSRP

28. flight, and each person  her own journey life is a solo  makes his or

P Q R S

The correct sequence should be :

(a) SPRQ

(b) RPQS

() RPSQ

(d PQRS

29. made it evolve technologies and equipment has
p Q
into a rare centre of excellence  adoption of the latest
R S

The correct sequence should be :

(a) PQRS

(b) RPQS

(c) SQPR

(d) QSRP

30. please mark the same be made in response to this notice

P Q
if you have any complaint to  to the concerned authority
R S

The correct sequence should be :

(a) PQRS

(b) RPQS

(c) SQPR

(d RQPS
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Antonyms

Directions : Each item in this section consists of a sentence with an underlined word followed by four
options, (a), (b), (c) and (d). Select the option that is opposite in meaning to the underlined word and

mark your response in your Answer Sheet accordingly.

31.

32. Now we can have another dazzling thought,
as an outcome of my brilliant research!
(a) splendid
(b) murky
(¢) dazing
(d) fulgent
33. The group held some clandestine meetings to
resolve the matter.
(a) secret
(b) covert
(¢) sneaky
(d) public
34. In the winters, the countryside view is bleak
and the house is drafty.
(a) cheerless
(b) verdant
(¢) desolate
(d) bare
35. Amid commotion the leader and his
supporters remained passive.
(a) quietude
(b) uproar
(¢) tempest
(d) stir
ASGT-F-ENG (8-

The parental support can fortify a child’s
learning.

(a) weaken

(b) encourage
(c) brace

(d) strengthen

36.

317.

38.

39.

A)

He had the audacity to blame him.

(a) boldness
(b) vigour

(c) temerity
(d) politeness

They are making plans for the abatement of
the nuisance within a specified time.

(a) subsidence

(b) ebbing

(¢) accumulation

(d) mitigation

There is exponential growth in the

development of the scientific researches in the
recent few decades.

(a) aggressive
(b) rampant
(c) meager

(d) augmented

He was known for his sagacity.

(a) prudence
(b) wisdom
(c) ignorance
(d) sapience

The river Ganges culminates in the Bay of
Bengal.

(a) concludes
(b) flows

(¢) originates
(d) merges



Idioms and Phrases

Directions : Given below are some idioms/phrases followed by four alternative meanings for each. Choose
the most appropriate answer from among the options (a), (b), (c) or (d).

41.
(a)
(b)

(c)
(d)

The lion’s share

A portion of something

The largest and the best part of
something

An important decision

An aggressive statement

42. Spill the beans

(a)

(b)  Forced to leave belongings
(c)  Share the news
(d) Take offence at someone’s rude
behaviour
43. Cook someone’s goose
(a) To assist others
(b) Hypnotize other’s mind
(e)  To spoil other’s plans
(d) Inviting misfortune
44. Disappear into thin air
(a) Lost forever
(b)  Become forgetful
(c) Become uncaring
(d) Disappear suddenly
45. Put the screws on
(a) Forcing someone to do what you want
(b)  Never letting go of things
(c) Keep the past alive
(d) Using someone’s trick for own benefit
ASGT-F-ENG (9-

Reveal a secret

46.

47.

48.

49.

50.

A)

Sit on the fence

(a)

Avoid meeting someone

(b) Waiting patiently

(c)  Avoid taking sides
(d) Hiding from someone
Be as sharp as a tack

(a) A talkative person
(b) A shrewd person

(¢) A clumsy person

(d)

A clever person

From pillar to post

(a)
(b)
(c)
(d)

Upside down

Keep moving from one place to another
Constructing a huge building

Jumping from the top of the mountain

Heath Robinson

(a)

(b)

(c)
(d)

Very complicated system or machine for
doing a simple task

Treating everyone as enemy, when they
are not

Sleeping all day, doing nothing
Very lazy person, slow in action

As thick as thieves

(a)
(b)
(c)

(d)

Dumb person
Good for nothing

Someone who
personal gain

uses everyone for

Very close friends who are looked upon
with suspicion



51.

52,
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10 kg

(a) W;=5kg 3R W,=10kg

(b) W;=10kg 3R W,=5kg
(c) W;=5kg 3 W,=5kg

d W;=10kg 3R W,=10kg
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(@ R=12m
(b)

(¢ R=24m

R=18m

(d R=30m

| 54.

(10-A)

9ol % Ucd ¥ HY 9 aret fhet agred ¥ v
A T TH Al ST A1 2 | g WS
T8 Mo 9§ @ R A FHB V() < 1)
ARG ST H g @ @ | gEd AR, I« Fg
a < g (g 9ot W THcIT 0T B) RO % WA
T Jahe & nfy A gu afeEE @, @
a1 et AT g3 A £,V R | A

(a) f2 = f]_

B H=(1=2)¢
2 g 1

© fy>f

@ = ey

g
aﬁéﬂﬂm(container),XBﬂTY,mm
# yaeht Afeem g A9 W IS g R | W
TRt % 3iet U ared @, S foe fom # quin
TR | RN A U X & I h FE 9% TH
79 W0 g7 8 3w Y e | 5 ared @it
FaT R, A oA 9= ¥ @WW wEm ® g4
TG (equilibrium) ® &1 8 | IfE (Iea
T 9T % Igd) g i ymie feufes s
P, 2 3R 3iftm feufos ot p, 8, @ -
X Y




51.

PART - B

Two identical spring balances S; and S, are
connected one after the other and are held
vertically as shown in the figure. A mass of
10 kg is hanging from S,. If the readings on
S; and S, are W; and W, respectively, then :

10 kg

(a) W;=5kgand W,=10kg
(b) W,;=10kg and W,=5kg
() W;=5kg and Wy =5kg
@ W,;=10kg and W, =10kg

52. A stone is thrown horizontally from the top of
a 20 m high building with a speed of
12 m/s. It hits the ground at a distance R from
the building. Taking g = 10 m/s? and
neglecting air resistance will give :
(a R=12m
(b)) R=18m
() R=24m
(d R=30m

ASGT-F-ENG
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54.

(41 =)

A sphere of volume V is made of a material
with lower density than water. While on
Earth, it floats on water with its volume
f;V (f] < 1) submerged. On the other hand, on
a spaceship accelerating with acceleration
a < g (g is the acceleration due to gravity on
Earth) in outer space, its submerged volume
in water is f,V. Then :

(a) f2=f1
b fH=@-2)f

2 g 1
(o f351;

a

d) = =f

2 g 1
Two identical containers X and Y are

connected at the bottom by a thin tube of
negligible volume. The tube has a valve in it,
as shown in the figure. Initially container X
has a liquid filled up to height h in it and
container Y is empty. When the valve is
opened, both containers have equal amount of
liquid in equilibrium. If the initial (before the
valve is opened) potential energy of the liquid
is P; and the final potential energy is P,
then :
X ¥

(a) P;=Py

(b) P;=4P,
(© P;=2P,
(d) P;=8Py



55.

56.

57.

58.
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(a) 86N

(b) 43N

(¢ 50N

d 67N
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(a) TR
(b) e
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(a) 132
(b) 233
(¢ 13Mm3
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61.

(12-A)

AR FT W % SR Sqd wew § 3
a1 IPAE?

(a) A o (Pleistocene) 3R foeH

(Pliocene)

(b) AMFE  (Holocene) R Jd oA
(Pleistocene)

() I a9 (Pleistocene) 3R ETaH
(Miocene)

d) 3T (Holocene) 3 MG (Eocene)

frfafgs & @ #Fa, e ™ m@ &1 7%
T (gm/em® ) & ratE w0 § fo=ma &
e TR B 2

(a) ‘1@>§E@Iﬁ>ﬂ§ﬁ>‘€lﬁ

(b) TEEfd > geaft > W > Wh

(c) Eﬁﬁ>‘gﬁ>§zﬂﬁ)¥rﬁ

(d) ‘E’ﬁ?:-!;lﬂi:-ﬁ:»i'ﬁmﬁl
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(a) ufvenft sfeferan am

(b) gt arfefer ama
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| HEl 1§ It # ?

(a) ﬁga?ﬁﬂ a1

(b) HMEYA F

() emaA

(d) SHeEETHE 9=

6 TWIE 23 (Keen Sword 23) €3% ¥
e for gt & offe fomam a1 2

(a) W@ 3R YA

(b) WG 3R JUHT (USA)

(c) JUHT (USA) 3R STaH

(d) S AR qREH



55.‘

56.

57.
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A particle is moving in a circle of radius R
with a constant speed v. Its average
acceleration over the time when it moves over

half the circle is :
2

<

(a)

|

=

(b)

(c)

B
%%, 5|

d 0

Two forces of 5:0 N each are acting on a point
mass. If the angle between the forces is 60°,
then the net force acting on the point mass
has magnitude close to :

(a) 86N
(b) 43N
(¢ 50N
d 67N

Which one of the following is not an igneous
rock ?

(a) Granite

(b) Slate

(c) Basalt

(d) Gabbro

Which of the following statements is/are
correct ?

1.  Hypocenter is the point on the surface of
the Earth, nearest to the focus.

2. Velocity of earthquake waves is higher
in denser materials.

3. P waves move faster and are the first to
arrive at the surface of the Earth.

Select the correct answer using the code given
below :

(a) land2
(b) 2and3
(¢) land3
(d) 3only

59.

61.

62.

(13-A)

In terms of geological time scale, the
quaternary period consists of two epochs.
They are :

(a) Pleistocene and Pliocene

(b) Holocene and Pleistocene
(¢) Pleistocene and Miocene
(d) Holocene and Eocene

Which one of the following is the correct
sequence of arrangement of the given planets
in descending order of their density (in

gm/cm®) ?

(a) Earth > Jupiter > Venus > Saturn
(b) Jupiter > Earth > Saturn > Venus
(¢) Earth > Venus > Jupiter > Saturn
(d) Earth > Venus > Saturn > Jupiter

Which one of the following is no# a cold
current ?

(a) Western Australian Current
(b)
(¢) Benguela Current
(d)

Eastern Australian Current

Peru Current

The process of Podsolization is predominantly
found in :

(a) Equatorial forest

(b) Monsoon forest

(¢) Taiga forest

(d) Mediterranean forest

Joint Military exercise ‘Keen Sword 23’ was
conducted between :

(a) India and Japan
(b) India and USA

(¢) USA and Japan
(d) Japan and Taiwan
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aftfeufaai & wreta &1 g foem ad & e
a1 ?

(a) 1948
(b) 1956
(c) 1962
(d) 1972

‘sremm ot fafSie-22 (Exercise Sea Vigil-22” %
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1. 3H 3o G g R oy W &
&3 ¥ WRa 1 I HT e HET R |

2.  USA 3R SuM &t Aaad ot 38 sr=rE
H wifere & |

ITH HYA § A BH-AVHH-E TE BE 2
(a) a9 1

(b) A 2

(¢ 13 2¢M

@ Ja 1,782

Frafafes Fuai ® famm Hif

1. Foie wHaE 9 ® e 1cc T20 fawa
&9 & ¥1 ST |

2. forre wiwelt wam faerdl 8 St 1CC T20
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(SRR 31T g Hie) 93 7Y |

394 w8 ¥ FH-AVRA-E Th ¥ 2
(a) e 1

(b) HaA 2

© 13 22

(@ Tar1,T¢2

67. frafafga & 4 =59 af 2022 & WA e 4

69,

70.

(14-A)

et [EHR TTHbaT 777 & ?

(a) AT IR, Frsoit

(b) e foe

(¢) Wied Heed

(d . o8 smdem

HifdrerT faf s & gy ° fefafaa st

‘T{ﬁ'ﬂ'{aﬁﬁlﬁ:

1. e St fufy Iieramet H sH
Bt B |

2. Has e fufe agae f sh Bd
21

3. wifvEt § shifvrenr fafy 98 &t qon 39
WU I UEET w1 S IR
AT (extracellular matrix) BT % |

= fow M e F1 @ Fwd 3w g
(a) had 2

(b) hae 1 3R 2

(¢) had 13 3

d 1,233

fafafgs & & +9dt @@ gp-hgh
HIfEHT (prokaryotic cell) § 7T =t 2

(a) hIf3reRT fife

(b) TEEM

(c) “hg

(d) Sfi9geT $eT (Plasma membrane)

urey iyt #, Ffafea & @ fFd s
39T DNA BT 2 ?

(a) g 3N IFaged! et (Endoplasmic
Reticulum)

(b) TgErEm IR et ITehTol
(c) FABMEHT (Mitochondria) 3T BRaeias
(d) wiaeas 3 WUt (Vacuoles)



64. The Battle of Rezang La, an epic battle in
hostile conditions, was fought by the Indian
Army in:

(a) 1948

(b) 1956

() 1962

@ 1972

65. Consider the following statements about
‘Exercise Sea Vigil-22’ :

1,  Its aim is to assess India's preparedness
in the domain of Maritime security and
coastal defence.

2. Naval forces of USA and Japan also
took part in the exercise.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and 2

(d) Neither 1 nor 2

66. Consider the following statements :

1. England is the only country that won
the ICC T20 World Cup twice.

2.  Virat Kohli is the only player to be
adjudged as the Player of the Series in
the ICC T20 World Cup twice.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢) Bothland2

(d) Neither 1 nor 2

ASGT-F-ENG

67.

69.

70.

(15-A)

Who among the following is not a recipient of
Nobel Prize in Chemistry in 2022 ?

(a) Carolyn R. Bertozzi

(b) Benjamin List
(¢) Morten Meldal
(d) K. Barry Sharpless

Consider the following statements regarding
cell wall composition :

i 2 Bacterial cell wall is made of

peptidoglycan.
2.  Fungal cell wall is made of cellulose.

3. Animals lack cell wall and have
extracellular matrix made up of sugar
and proteins.

Select the correct answer using the code given
below :

(a) 2only

(b) 1and 2only
(¢) 1and 3only
(d 1,2and3

Which one of the following structures is not
present in a prokaryotic cell ?

(a) Cell wall
(b)
(¢) Nucleus

(d)

Ribosomes

Plasma membrane

In a plant cell, which one of the following
contains their own DNA ?

(a)
(b)
(¢) Mitochondria and Chloroplast

Nucleus and Endoplasmic Reticulum

Ribosome and Golgi apparatus

(d) Chloroplast and Vacuoles



71.

72.

73.

74.
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TAfiIeh F99 I e Afifs 9 w1 TH ATH
7% 8 T 7' wfa (efisfir) & < fam =@
A ITAE B | TERAT AT 8 | R BRI

(a) YAH T G H IWEHa Al wafd
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(b) TE-YE 3N ey Gafa dey At & |
(c) IFHaRehd: wgW Fafd da1 Bt § |
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(a) ifdrent fufa
(b) Sftagsd FHe
(c) HITTHEA (cytoplasm)
@ ITafEs vere

¢ g ¥F & TYH (browning) ! fhE TN
F9-8-F0 T s gehar 2 2

(a) WH TTelt & HT I9INT H
(b) Tl umr & wfefera w6

(¢) g F @ 1 I Hh

(d) Firesh fe Afifdmn &1 3w

S8 BEGIHTEAI Bl ITh FIIAHI b TGd §U
% § safeua femam w2 2

(a) A, T, W, FA
(b) WU, s, UeA, e
(c) SN, YA, B, B
(d) 3ffaed, TH, A9, 9=

75-

76.

717.

78.

(16-A)

Freafafiga & @ fFa sy s v, S 3ik
S & T+ g A F fore o simar 2 2

(a) Tﬁﬁﬁaﬂtﬁmﬁi
(b) IHETHR FATER

(c) YIFHR g

(d) I qU VI 9

HIR Tohe faewm 7 gais 1€ @ i hier w0
U1 §gd R U & a1 # | e efafea d @
fora wepm <t arfirfsran & swor g @ 2

(a) Teher fufsran
(b) 3Tqeres fufsman
(c) fcreemaa srffpan
(@) foreemmm srfifsran

A H T & forg Preferfiea § & A v
w8 T8 R 2

(a) ST T (VAW i) % §dq §
RLCEI]

(b) did & & § @
(c) vCoNfEeeh & &+ | T@Hl
(d) id & Fa9 § T

e fefafea § @ frm frnfafy gro efal
% & I Tha B ?

(a) AR 3cAdT I IS =
(b) UTIHHOT F HIETH A
(c) waINTsE Hit fokar g

(d) Tlal I gag & IW Hfowaw N wa s
T



71.

72.

One advantage of sexual reproduction over
asexual reproduction is that it helps species to
survive over long evolutionary time. This is
because sexual reproduction produces :

(a) more offspring in each reproductive

cycle.

(b) robust and healthy offspring.

(c) genetically similar offspring.
(d)

more variation in offspring.

Which one of the following structures or
components is not always present in living
cells ?

(a) Cell wall

(b) Plasma membrane
(¢) Cytoplasm

(d) Genetic material

73. Browning of the chopped apple can be

minimized by :

(a) using table sugar.

(b) preserving in a container.
(¢) using lemon juice.

(d) using milk of magnesia.

74. Which of the hydrocarbons are arranged as
per the increasing order of their boiling
points ?

(a) Methane, Butane, Propane, Heptane

(b) Propane, Butane, Pentane, Octane

(¢) Propane, Butane, Heptane, Methane

(d) Octane, Ethane, Methane, Propane
ASGT-F-ENG

75.

76.

1.

78.

(17-A)

Which one of the following apparatus is used

for separating benzene and water mixture ?
(a) Round bottom flask
(b)  Conical flask

(¢) Separating funnel

(d)

Dean and Stark apparatus

An iron nail dipped in copper sulphate
solution turns brown. This is due to which one
of the following types of reactions ?

(a) Addition reaction

(b) Decomposition reaction
(¢) Substitution reaction
(d) Displacement reaction

Among the following, which is not the correct
method for keeping the curd ?

(a) Keeping in stainless steel vessel
(b) Keeping in copper vessel
(¢) Keeping in plastic vessel
(d)

Keeping in glass vessel

Toothpaste prevents tooth decay by :

(a) neutralizing the excess acidity.

(b) means of emulsification.

(¢) the action of fluoride.

(d) making a coat of calcium over the teeth

surface.



79. @Al BAH FAwaar ween fhed wdle g8

81.

82,
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of 2

(a) Tourdt fagie &

(b) WRE Bl AGH |

(c) 3rEgAM g §

(d) 1893 - 1894 % fermm fagie &

HAgee Wt (Sgae) & WR # Fefafea §
¥ BH-HT HH TR R ?

(@ "N & off ozt w1 wwae smERa
foma |

(b) HMTG: I (ancestry) % YR T AH
feu sma 9 |

(c) WAEEEW % UG 3R a4 H WA (zat)
TN HEATHE e R grua e
ST o |

@ wEEERi B w ot T F ymam @
fea <man e |

T & fhE TR 9w w fafew d@oe #
gt & SRR 9 18 o 2

(a) e FamEa

() & MR (Vansittart)

(¢) dRA ™

d) e Hiarerd

frafafea & & frar aggm 6 ‘wm yofe’
$ = A ot 2

(a) wfE

(b) = W

(c) foumaga

@ g

(18-A)

83. fr=fefaa & @ frm w9 i w9 3@ v,

Bt 3t g, 3 6 oft 2
(a) w&H

(b) fasEAR

() HIAST

(d) wUer

. Fefafes 4 @ foee wom w wya § 2w St

I et st s 2

(a) f&=9U (Chinsura)

(b) HUEHA (Karaikal)
(c) W& (Mahe)

(d) @IS (Tranquebar)

. T JAd ABCD, f %I gl a1t faas gyl

% T @1 8T #, o A oft B #R gdu &
U 2f 3TN 3f i gt W 7, 3 AB WuW &
W &, o for o o gufan mn R ) 9w odu %
wma wfafems A’B'C'D’ 9T R | B'CY T ADY
¥ 9T FTE 2

{8y = 1
(b)

(c)

o o= W

(d)



79. Freedom fighter Kanaklata Barua was
martyred in :

(a) Sepoy Mutiny

(b) Quit India Movement

(¢) Non-Cooperation Movement

(d) Peasant Uprising of 1893 — 1894

80. Which one among the following statements
about the Mansabdari system is correct ?

(a) All army troopers were allotted
mansabs.

(b) Mansabs were usually assigned on the
basis of ancestry.

(¢) Position and salary of mansabdars were
indicated by a numerical designation
called zat.

(d) Mansabdars were never paid in cash.

81. Which Governor General of Bengal underwent
impeachment proceedings in the British

Parliament ?

(a) Robert Clive

(b) Henry Vansittart

(¢) Warren Hastings

(d) Lord Cornwallis

82. Who among the following composed the

‘Prayag Prashasti’ of Samudragupta ?

(a) Harishena

(b) Chand Bardai

(¢) Vishakhadatta

(d) Kalidasa

ASGT-F-ENG

85.

(19-A)

Which one of the following kingdoms was
founded by the two brothers Harihar and
Bukka ?

(a) Bahmani

(b) Vijayanagara
(¢) Malwa

(d) Maratha

At which one of the following places did the
Danes establish their settlement in India ?

(a) Chinsura

(b) Karaikal
(¢c) Mahe
(d) Tranquebar

A rectangle ABCD is kept in front of a concave
mirror of focal length f with its corners A and
B being, respectively, at distances 2f and 3f
from the mirror with AB along the principal
axis as shown in the figure. It forms an image
A'B'C'D’ in front of the mirror. What is the
ratio of B'C’ to A'D" ?

2f
< 3f

D C
—
1

(a) 4k
b)) 2
1
(c) E
2
d =
(d) 3



86. T3 ¥ & gwaw =du Xy 3k Y2 XY 1 YZ)

87.
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Zuie MU &, S o fRR W g # | 3 oft
goifan e R f6 31 A ¥ uw odu ® wew i
fhr vedt 2 ol s fomme ¥ wfmrasy
3O A 9Y F GHHIR Wafd Sl 8 | 379
AT gl 1 IRt T feufa xvz # @i o @
gHRT S 8, S&r 6 oewiwm omm @
fumreEEy, 7€ wWafda o qw wefda
foptor & I oW R | A,

(a) a=0
b) a=0
(0 o=26
(d o=460

M; Z59HH H1 TF 1A IH (SR & GoAl) Th
Yl i I v, ATfa @R | F8 N
WG, a9 % HRU IEH AR TG W A W
S B, fSed S & geme M, i 9 v,
& STt ® | 98 AMd g T avf setw @ @
2 3 AW ¥ fiw I R R, 2F =el vy
Wvg%aﬁaﬁa‘ww%?

(a) V1 =Vo

® %Mlvf < % M,v2

() Myvy =Myv,

(d) Mlvl < M2V2

88. arEE dgd & fou fefafea § & 9

89.

90.

(20-A)

HYT T TgT B ?

(a) ©H4 YR (blowing jet) T Gl &1 Ha,
I9d L (note) I Yeear i fAyifa
AT R |

(b) YHF YER (blowing jet) 9 TN &1 ATHA
Y, 397 X (note) & AN (pitch) i
fuifa @ 2 |

() dghH F i & FEE 9g TN &
wafy et R |

(@) =gl & ofiw F g «igh & awe F of
T FHH 91g W Y eafy e |

%Fﬂ@mﬁ'@ﬂqm(charge)m
<l 3R 7 X T R, el greeh & 3o famm
=1 3R TG o @ R | e ey W

(a) I faem i 3R fadues se wm |

(b) & foum it 3 f8vss w1 @ |

(c) ufvem fgam it 3R fades ot erm |
(d) =13 fagus g 7& @ |

fafaflgs & @ *Rd, g fwece
T R

(a) W a9
(b) AT

(c) T SIEATFETES
@ ¥\




86.

87.
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Shown in the figure are two plane mirrors XY
and YZ (XY L YZ) joined at their edge. Also
shown is a light ray falling on one of the
mirrors and reflected back parallel to its
original path as a result of this arrangement.
The two mirrors are now rotated by an angle
0 to their new position X'YZ’, as shown. As a
result the new reflected ray is at an angle o
from the original reflected ray. Then :

(a) o=
b)) o=
() o=20
(d)

A railway wagon (open at the top) of mass M,
is moving with speed v, along a straight
track. As a result of rain, after some time it
gets partially filled with water so that the
mass of the wagon becomes M, and speed
becomes vy. Taking the rain to be falling
vertically and water stationary inside the
wagon, the relation between the two speeds v,
and vy is:

(a)

Vl =V2

1 1
(b} EM]V% < §' M2Vg

(C) Mlvl = M2V2

{d) M].V]_ < M2V2

88.

89.

(21-A)

Which one of the following statements is not
true for a flute, a musical instrument ?

(a) Momentum of waves on the blowing jet
determines the loudness of the produced

note.

Arrival time of the waves on the
blowing jet determines the pitch of the

(b)

produced note.

(c) Sound comes from a vibrating column of
air inside the flute.

(d)

Sound comes from a vibrating column of
air inside as well as outside the flute.

A positive charge is moving towards south in
a space where magnetic field is pointing in the
north direction. The moving charge will

experience :

(a) a deflecting force towards north

direction.

(b)  a deflecting force towards east direction.

(¢) a deflecting force towards west
direction.
(d) no deflecting force.

Which one of the following is not a main

greenhouse gas ?

(a) Water vapour
(b) Oxygen

(¢) Carbon dioxide

(d) Methane



91.

93.

ASGT-F-ENG

X-frwn & ar ¥ fFefafega § & S99 w99
e T8 =2

(a) 3T TUTCE] ST 1 A BT # |

b) ¥ Bl urg @s (erfle) w 3= o
FeiaAl gr1 AR (awerl) W I
&1 S qHA E |

(© dfh A aFd @y queed At €, 7=
TR yonferdl & faw s fRn s gear
7

(d) TE PO THR $ HH & ITER & fou of
s e S

frafafegs & @+, g 90 Wi
WER?

@) % fgh
(b) HIGHTG
(c) ﬁmg

(d) @Il

frafafea suAi v faam #ifv

1. I8 ya iR cfarft ya w 2eiad & o=
1 g 3= & St @

2. foged 9@ w [ ¥ fiw A gh
rferepan it 2 |

3. <ual il mEn, Hewl i wEm A
Al B |
I HUEl § A PH-A/PA-A T A 0

(a) ad 1

(b) had 2

(c) haet 13 3
d 1,233

95.

97.

(22-A)

frafafaa & ¥ F9-a Us9, yra § FE @
amoft IeuTes B 2

(a) WET Y9

(b) FEE

(c) TUNEIH

(d) Al

3TWH T J&T T § I9A Fored e B 2
(a) W 3R Y7 3@ A

(b) g 3R FoaTa e o

(c) ﬁ?ﬁrﬁmaﬁmﬁ

(d) gd 3R s Il §

HU F TAaY TlHU F ITER, R F
fawe st AqHl A fefefga § & S

ESCICE

(a) Aw ScTary
(b) CwgSiedlg
(© Amw FeaTg
(d) Dfe SeTaTy

afm dgE & at § Fefime § 3
PH-GV/HH-A 9T T& 278 2

1. 9 38 A & IWA & |

2. 9 HUER % Jg # A Iged & forg s
9 2 |

3.  UYH 1& et &% gddm Fe FI Afa
HHeh T gsh fear S R |

ﬁ%ﬁmnqqganymnanaaimtﬁﬁq:
(a) 1,23 3

(b) Had 23N 3

(¢ Had 1

(d) Had 2




91. Which one of the following statements about
X-rays is not true ?
(a) They have wavelengths of about 1 A.
(b) These can be generated by bombarding
a metal target by high energy electrons.
(¢)  Due to their wavelengths being shorter,
these can be used for radar systems.
(d) These are also used for the treatment of
certain forms of cancer.
92. Which one among the following is the
northernmost geographical location ?
(a) New Delhi
(b) Kathmandu
(¢) Thimphu
(d) Dhaka
93. Consider the following statements :
1. Distance between the longitudes
becomes zero on North Pole and South
Pole.
2. Distance between the longitudes is
maximum on the Equator.
3. Number of longitudes is more than
number of latitudes.
Which of the statements given above is/are
correct ?
(a) 1lonly
(b) 2only
(¢) 1and 3only
(d 1,2and3
ASGT-F-ENG

94,

95.

917.

(23-A)

Which one among the following states is the
leading producer of Manganese in India ?

(a) Madhya Pradesh
(b) Jharkhand

(¢) Rajasthan

(d) Karnataka

Mica is mainly used in :

(a) food and beverage industry.
(b) iron and steel industry.

(¢) aluminium industry.

(d)

electrical and electronic industries.

According to Koppen’s climatic classifications,
the Great Northern Plains of India have
which one of the following climates ?

(a) Aw climate
(b)
(¢) Amw climate
(d) Dfe climate

Cwg climate

Which of the following statements about
Lachit Borphukan is/are correct ?

: [ He was a General of the Ahom Force.

2. He is known for his leadership in the
Battle of Saraighat.

3.  Lachit Borphukan Gold Medal is given
to the best cadet at the National
Defence Academy.

Select the correct answer using the code given
below :

(a) 1,2and3
(b) 2 and 3 only
(¢) 1only

(d 2only
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98. WRd™ H41 3R Isefoheam &1 & o9 TIH

¥ F9E ‘qEfa® (DUSTLIK) &1 =ten
HEH HET S foha T o 2

(a) U@
(b) TR
(c) faeirme
@ @&

. ®o 8 # ISRO gRI WHIfYd (launched) foar

T 9RE 1 ggen et d W fowfia dee
feafafgad a a2 2

(a) THIEES (Skyroot)
(b) 9I¥Y (Prarambh)

(c) =3[k (Bazoomq)
(d) foFm-S (Vikram-S)

100. Fr=fafga & & foFm o & g9 &1 § WA &

YYY 24 x 7 SRl GaTield UW eifya faR
T 2

(a) maf%ﬂﬁﬂ,ﬁm

(b) YT, T

(c) S U, VTS WeW

(@ wemn, fEEre vew

101. Fr=fafea 4 @ feg o9 & gl =+t e

feam We, 2023 i watan gl g1 ™ 2
(a) ITTES
(b) T
(c) TSUE

(d) I W

(24 -

102.

103.

104.

A)

Y9 HEA G & ®9 F CO, H IFN HFH
A G (organism) T FHEA & ?

(a) =t
(b) I

(c) YTSHEt

(d) 3AUEH

wa diwe HIfEhd 0, YR (starved) Bt &,
fepva (fermentation) At & g qE A

Tl 8 | 36 TROMIETEY 1 Iedied g @ ?
(a) ATP + CO, + UHTdA

(b) ATP + O, + UIgeae

(¢) ATP + CO, + AfFes Tfire

(d) ATP + 0, + tHidfeeamse

UH YETE W % gnrH, fRdt faeneff 3
srferenff o e (epidermal leaf peel) i TH
e e (Hypertonic solution) |
fafsa fFn | 9 @ =g, 3u faaneff 3
gewes # 3 wifvEmen &1 ol R, ek
Iz ftra foran o

(a) o IR Fet 78 |

(b) 3 HIfvEHE geaHE (plasmolysed) B T8
off |

3 Wiy 3 e Qe (turgor
pressure) SHMET |

(d) I HINPERIAT HT Y (size) AINTII
o1 |

(c)



98. The 4% edition of joint military exercise
‘DUSTLIK’ between the Indian Army and the
Uzbekistan Army was held in :

(a) Ranikhet
(b) Gangtok

(¢) Pithoragarh
(d Leh

99. Which of the following is India’s first privately
developed rocket launched by ISRO recently ?
(a) Skyroot
(b) Prarambh
(¢) Bazoomgq
(d) Vikram-S

100. Which one among the following villages was
recently declared as India’s first 24 x 7
solar-powered village ?

(a) Mawlynnong, Meghalaya

(b) Modhera, Gujarat

(¢) Ziro village, Arunachal Pradesh
(d) Malana, Himachal Pradesh

101. Tableaux of which one of the following States
was adjudged the best in the Republic Day
Parade, 2023 ?

(a) Uttarakhand

(b) Punjab

(c) Gujarat

(d) Uttar Pradesh
ASGT-F-ENG

102. Organisms capable of using CO, as principal

103.

104.

(25-A)

carbon source are called :

(a) Autotrophs
(b)  Heterotrophs
(c) Parasites

(d) Decomposers

When yeast cells are O, starved, fermentation

serves as the source of energy. This results in
the production of :

(a) ATP + CO, + Ethanol

(b) ATP + Oy + Pyruvate

(¢) ATP + CO, + Lactic acid
(d) ATP + O, + Acetaldehyde

During a laboratory experiment, a student
immerses epidermal leaf peel in a hypertonic

solution. After some time, the student

examined the cells under a microscope and

observed that :

(a) the cells swelled.

(b) the cells were plasmolysed.
(¢c)  the cells built up turgor pressure.
(d)  the cells size was unaffected.



105. fr=fafiga § @ #a1, F9% (Fungi) #1 fafE

1%.

107.
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e 777 B 2
(a) ISRt e wefea & o 2t 2

(b) TG el (ATgEfeEm) faemm
2

(¢) A THINI-HIANY T Fehd &
) 3T o] (TAR) I B B

FA%EE & SR § f=fafes =i 4 @
H-a1, TE 7T 2 2

(a) UIGY H FEhige (MwEe) gar 2 |
(b) A FFEafd Sa & INTE oft Fr I B |

(c) UIGY 1 YETHIEI GRI MUK & eI Bl
2

(@) faRifwa SemEms Fas o aa § |

IR AR & 2E Wi EEgiease
% WA T G99 SEieE @ g 2

(a) U™ HET WH HEAT A ==l & A0 F3R
&

(b) UH FEA IH HEAT S o= & U e
&

(c) WTehfdeh Y ITH HTAT
(d) FTEHH B AATF FFEEd s =

(26 -

108. f=fafea § & =ha, ugsti %1, s#h

109,

110.

A)

srfifsramsfieran % wed gu n § o fomma 2 2
(a) @reT, Hifezm, @, a0
(b) Tofd, ATH, iET, Hifeam
(c) ez, am, T, wrEl
(@) wifemm, S, T, TG

FE F AEY % Goy H Fafafea § &
HH-HT U & 75 8 2

Apree foega =1 gurers # |
B H3aH 719 9 R |

gﬁ'ﬂ:{ (Fullerene) IS <hT Tsh &Y
2|

& % W1, AHrEe qH FRaW T wer
g1

(a)
(b)

(c)

(d)

Frafafes d @ S, smifa & fafmion $i
waferd ggfa & 2

(a) 3ETCS ThH (Ostwald’s process)
(b) BSL-ETY WshH (Haber-Bosch process)
(c) ﬁﬂﬁ HE! WhH (Electric furnace process)

(d) foEa-3199ed WA (Electrolysis process)




105. Which one of the following is not a

characteristic feature of fungi ?

(a) Cell wall is made of chitin

(b) Filamentous mycelium is present
(¢) Can carry out photosynthesis

(d) Asexual spores are produced

106. Which one of the following statements about

bryophytes is not correct ?

(a) The plant body is a gametophyte.

(b) They are also called the amphibians of
plant kingdom.

() The plant body is attached to the
substratum by rhizoids.

(d) Specialized water-conducting tissues
are present.

107. What is the specific purpose of using
potassium hydroxide during the
saponification process ?

(a) To obtain soaps which are hard on the
 skin
(b) To obtain soaps which are soft on the
skin
(¢) To obtain natural fragrance
(d) To make the saponification very
economical
ASGT-F-ENG (27 -

108.

109.

110.

A)

Which one of the following is the correct
arrangement of metals in the decreasing order
of their reactivity ?

(a) Iron, Sodium, Silver, Copper

(b) Silver, Copper, Iron, Sodium
(¢) Sodium, Copper, Silver, Iron
(d) Sodium, Iron, Copper, Silver

Which among the following statements is not
correct with respect to allotropes of Carbon ?

(a) Graphite is a good conductor of
electricity.

(b) Diamond is the hardest substance
known.

(¢c) Fullerene is one of the allotropes of
carbon.

(d) Next to diamond, graphite is the second

hardest known substance.

Which among the following is the popular
method for manufacture of ammonia ?

(a) Ostwald’s process

(b) Haber-Bosch process
(c)  Electric furnace process
(d) Electrolysis process



111. &= & fafmio & fou, fafoe & €@ & &9 4 | 115, @, sfue g taefts afifea oy

frefefaa 4 @ fraess wam for smar 2 2 (fom) B9 iR 3md rheq Fdd gitadA
o b FH I T Icae & T F fgid W FE
(a) % Jfae (Fine clay soil) =3 § | Pefier 38 D £
(b) T8 90 (Wood powder) YT 35 e Feeerh 2 0

(¢) RIS T @A (Coconut shell)

(a) @ifeam THATES I MEeIoH 4 §
(b) 3 FEA SEIAFERES H AT FHEA

112. Fafafga & & #a1, FeoH &1 39 SrpAlaeS
HTFTHRF THid & Ted gL HH H Wl AR | (o) e emerenTes #1 HeA AiHeEEs i

(d) e

it (d) M FHEq  SEAEEES  H FEA

(a) F CLBr I mﬁmm

() CLBr,F,I

© Br,LCLF 116. &1 WA & f=fafes e 4 @ fead 1947 8

(d I Br,CLF 7 fafifees 0 & o Swa-se frm mn
T o wifpear & i & o 7 2

113. ST9R § I9crey FIR Febe Bheedt, A @ % (a) forege
fortest 210 € | wrEur @ ™ S0 W Y ghe @

: 5 (b) TETAIN

% @ 9 & | fen @ fFefafea & @ s
R BT B 2 () oK
(a) ATFHSH (d) STUETE
(b) FTEEISH

o 117. &A% ARG (Rabatak inscription) % &R #
) frferfaa # & a1 %o @ 787 2 2
(d) EEENE

(a) I P IS T HEEYU JhIN STerd
114. 59 UH & a99H 3N 2@ w94t 79 & gae 21

m@?g%%ﬁquﬁ;gm (b) 3EH HiAsh w1 TS F TS W TR

foam o1 2 9 o 9 A 3gW@ fopn R
(a) ‘ﬁ’lﬁﬂf (Charles) (c) 23-dﬁ‘h_zﬁ <%l 98 ﬁ'ﬁﬂa@ Tm EIET ﬁ
fora mn 2 |

(b) I (Boyle)
& THTST & 9T 9 |
(d) THF (Lussac)

ASGT-F-ENG (28-A)




111. For manufacturing of glass, which among the
following is used as a source of silica ?

(a)
(b)
(e)
(d)

112,

Fine clay soil
Wood powder
Coconut shell

Sand

Which among the following is the correct
arrangement of halogens in the increasing

order of their oxidizing nature ?

(a)
(b)
(c)
(d)

F, Cl, Br, I
CLBr,F, I
Br,,CL,F
L Br,CLF

115.

116.

Airbags work on the principle of a chemical
reaction triggered by the impact producing a
gaseous product that causes a sudden volume
change. Which one among the following
chemical conversions is responsible for this ?

(a) Sodium azide into nitrogen gas

(b) Solid carbon dioxide into gaseous carbon
dioxide
(¢) Carbon dioxide into carbon monoxide

(d)

Sudden conversion of gaseous carbon
dioxide into carbon monoxide

Which one among the following districts of
Eastern India held a referendum in 1947 to
decide whether or not to join Pakistan ?

113.

114.

ASGT-F-ENG

Copper sulphate crystals available in the
market are blue coloured crystals. By careful
heating, they turn to white colour. Which one
of the following is responsible for the blue
colour ?

(a) Oxygen
(b) Nitrogen
(c) Water

(d) Hydrogen

Equal volume of all gases, when measured at
the same temperature and pressure, contain
an equal number of particles. Who proposed
the above law ?

(a) Charles
(b) Boyle
(¢) Avogadro

(d) Lussac

117.

(29-A)

(a) Sylhet

(b) Goalpara
(¢) Cachar
(d) Jalpaiguri

Which one of the following statements about

Rabatak inscription is not correct ?

(a)

(b)

(c)

(d)

It throws important light on Kushana
genealogy.

It refers to Kanishka as ‘a king of kings
and a son of God’.

The 23-line inscription is written in

Gandhari language.

It mentions names of States which were

part of Kanishka’s empire.



118. Ffafea 4 &8 =h, wg #=a 79

119.

120.

121.
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‘geo®Ie® (Mrichchhakatika)’ 1 TEHTHR o1 ?

(a) hIfeTe™

(b) wWHE
(c) drcHifH

@ &

Feierq frefafea & @ fra o590 &1 oo
aqP?

(a) HaAS
(b) WHaTS

(¢) HRATS
(d) Hfem

frafafea 4 @ g s 3wy @y i
TSYHl % §9 § qrefergs it T i 2

(a) fafremm

(b) fegar

(c) TSTaNg
(d) 39

frafafaa @ﬁ?ﬁﬁ (astronomers) i ¥ fem
77 foag foran 1 gl o o e g & 9w
3R 9iGRAT i § 2

(a) IR
(b) HIH
(e) efifern

@ =&

122,

123.

124.

(30-A)

fopeft ameeh g (FaTt See) W 1S 0-1 ke/s I
TAFSAR TR R 130 @ H 2 s H
THEAH I @ A0 @A % g, 98 W e
T AT T B 2

(a) ON

(b) 02N

(¢ 10N

(d 20N

80 kg Zo4WH i 2 s W 4 m H FeatwX gt 7%
33H % fou foraft ot omife 2 2 (Tecli
TR 10 m/s” A §Y)

(a) 80W

(b) 160 W

(c) 320W

(d) 640W

2:0 kg ZUH % Uh @e (sAlh) HI 3-0 kg
S % g @S (SATh) % HU W@ T R |
3HT @ei & e W =¥ nes 0-2 R | A=
I @ H &faw 991 F | 39 g i wrar 2
% gl @g s @y faar ador & figgwd & |
ol RO 10 m/s® WA gY, WO S

wETH A foha @ 2
(a) 50N
(b) 30N
() 4N

(d 10N



118.

119.

120.

121.

the
famous

Who among
author of the
‘Mrichchhakatika’ ?

(a)
(b)
()
(d)

following was the
Sanskrit work

Kalidasa
Bhasa
Valmiki
Shudraka

Yashovarman was ruler of which one of the

following kingdoms ?

(a) Kannauj

(b) Mewar

(¢) Marwar

(d) Kalinga

Which one among the following rulers

established Pataliputra as the capital of the
Magadhan Empire ?

(a) Bimbisara
(b) Bindusara
(¢) Ajatashatru
(d) Ashoka

Which one of the following astronomers
proved that the Earth and other planets
revolve around the Sun ?

(a) Copernicus

(b) Kepler

(¢) Galileo

(d) Newton
ASGT-F-ENG

122,

123.

124,

(31-A)

Sand falls vertically on a conveyor belt at a
rate of 0-1 kg/s. In order to keep the belt
moving at a uniform speed of 2 m/s, the
force required to be applied on the belt is :

(a ON

(b) 02N
(¢ 10N
(d 20N

The power required to lift a mass of 8:0 kg up
a vertical distance of 4 m in 2s is (taking

acceleration due to gravity as 10 m/s?) :

(a) 80W

(b) 160W
() 320W
(d) 640W

One block of 20 kg mass is placed on top of
another block of 3-0 kg mass. The coefficient
of static friction between the two blocks is
0-2. The bottom block is pulled with a
horizontal force F such that both the blocks
move together without slipping. Taking
acceleration due to gravity as 10 mfsz, the

maximum value of the frictional force is :
(a)
(b)
(c)
(d)

50 N
30N
4N
10N



125. 1§ gI0H TH HAM H Hord 8 St FHeater | 128, Froeifra wRuy 3te@@ (circuit element) # et
WeH @ 8 | HAF H Iearica foedr gest W wfery fahemm 2 2

6cm B | SgHT i TAE W e U FT M, R

geaft i Hag W e @0 & AH H D3l BB § b4 e

g % | 9gH W HHHEl +1 famm @ 3 et ‘WRW_
g0 2 R

(a) 6ecm (a) R/2

(b) 1em (b) 3R

(¢) Ocm (c) 3R/2

(d) 36cm (d 2R/3

129. YRAAIT RIS & Aata F=fafea § @
126. frfafegs & & #Fm, G ooff O F-e (e wfer 84 2

Lever) %l ?
o 1. oW1 &3 9% GS% 99 et e

(a) sl (A pair of scissors) 9. adt weHi 1 frE
(b) @de TR (bottle opener) 3. TH HIMSHI HI q&r § gur
(0 frdee w1 % A1 fow e e T o Iw g
(@ ey 3R (a) a4 1
(b) A 3

127. fFeft faega wRuw &, 100 vy &1 & @ @ W23
I o e 2 | AfE 38 an  Eie g @ 1,233

TS $Hh YRS UM (original value) | AT

e odgdelolis 130. EHSITA IO ! YgA fohd A8 | ST ST€T AT 2

(a) 39 SRfEe WA 1 omeft @ St | (@) R o
(b) 319 SO 7 F g A St | (b) TR T
(c) 37U YRRk HH i wh-<erd & s | (¢ whigel T
) 319 YRS 7 i =R T A S | @ foemETEm =
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125.

126.

127.

A mass is attached to a spring that hangs
vertically. The extension produced in the
spring is 6 cm on Earth. The acceleration due
to gravity on the surface of the Moon is
one-sixth of its value on the surface of the
Earth. The extension of the spring on the
Moon would be :

(a) 6cm

(b) 1lecm

(0 Ocm

(d 386cm

Which one of the following is an example of

Second Class Lever ?

(a) A pair of scissors

(b) A bottle opener

(¢) A cricket bat

(d) A bow and arrow

In an electric circuit, a wire of resistance 10 Q

is used. If this wire is stretched to a length
double of its original value, the current in the

circuit would become :

(a) half of its original value.

(b) double of its original value.

(c)  one-fourth of its original value.

(d) four times of its original value.
ASGT-F-ENG (33—

128.

129.

130.

A)

What is the total resistance in the following
circuit element ?

R
-_wv_—/vv}\{m—
R
(a) R/2
(b) 3R
(¢) 3R/2
(d 2R/3

Which of the following scheme(s) is/are
included under Bharatmala Pariyojana ?

1.  Develop the road connectivity to border

areas
2. Development of coastal roads
3. Improvement in the efficiency of

National Corridors

Select the correct answer using the code given
below :

(a) 1only

(b)  3only

(¢) 2and 3 only
(d 1,2and3

Deendayal Port was earlier known as :

(a) Paradip Port

(b) Tuticorin Port

(¢) Kandla Port

(d) Visakhapatnam Port



181. AT ¥ H FEAIEHN Us e IRk | 185, Fefafea # @ S, /s saad

@ HEl e AT A (lowermost/innermost intrusive
) W igneous rock) & ?

(b) afGR (Vairengte) (a) WHITAYT (Laccolith)

(© Temr (b) ¥ (Batholith)

(d) 9% b (c) @MIfAY (Lopolith)

132, HERE TN (soil-forming regime) #, o &1 (d) %™ (Phacolith)

I arsq-aTsieEe aHu & w6 AR B R,

&t fraferfiea § & SF-ar ST ? 2 136. af 7% g § dum F 12 ¥ &, @ &, UK,
(a) $HodINad (Calcification) o &1 999 B ?
(b) WUZAWAT (Laterization)
G (a) 6:30A.M.
(e) L IEC NI CE (Podsolization)
(d) TAWEA (Gleization) (b)  6:30 P.M.
(¢) 5:30AM.

133, Fr=fifiga § & waan, yeeft & Sfaw Wi #
T 1A 8 2 (d 5:30P.M.

(a) IS FFAAE (Conrad Discontinuity)

(b) WIEI 3™ (Moho Discontinuity) g
: 137. gd, gzt ok =g A Frafafes 3§ & wwH
(¢c) TedsRl 3IFWaA (Guttenberg @ e

Discontinuity) ﬁﬁ(ﬁ) F&q SIR-HIET (Spring tide) % forg
(d) W& A (Lehmann Discontinuity) I9YH BE ?

134. Frefafga #§ @ - 38 sl fme w 1. SYZYGY 3 (Conjunction)
TN B 7 2. SYZYGY fagfd (Opposition)

1. 3% (Oak)

9. USISEA (Rhododendron) 3. GuSHAd (Quadrature)

3. UWgS (Rosewood) #2 R e e w1 @ = ad I g
S e e 1 WAL (a) ad 1

il (b) A 2

(b) 23R 3

() 133 (¢ 132

Ll @ 133
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131.

132.

133.

134.

The Counter Insurgency and Jungle Warfare
1 School of Indian Army is situated at :

(a) Dehradun

(b) Vairengte

(¢) Gulmarg

(d Mhow

In the soil-forming regime, which one of the
following occurs in a region where
evapotranspiration exceeds precipitation
significantly ?

(a) Calcification

(b) Laterization

(¢) Podsolization

(d) Gleization

Which one of the following is found in the
innermost part of the Earth ?

(a) Conrad discontinuity

(b) Moho discontinuity

() Guttenberg discontinuity

(d) Lehmann discontinuity

Which of the following tree species is/are

found on Himalayas ?

1. Oak
2 Rhododendron
3. Rosewood

Select the correct answer using the code given
below :

(a) 1lonly
(b) 2and3
(¢) 1land3
(d 1land2
ASGT-F-ENG

135.

136.

137.

(35-A)

Which of the the
lowermost/innermost intrusive igneous rock ?

one following 1is

(a) Laccolith
(b)  Batholith
(¢) Lopolith

(d) Phacolith

If it is 12 noon in New Delhi, what will be the
time in London, UK ?

(a) 6:30 AM.
(b) 6:30 P.M.
() 5:30 AM.
(d) 5:30 P.M.

Which of the following positions of Sun, Earth
and Moon is/are suitable for Spring Tide ?

1. SYZYGY Conjunction
2. SYZYGY Opposition

8. Quadrature

Select the correct answer using the code given

below :

(a) 1lonly
(b) 2only
() 1land2
(d 1land3



138. foFE QASTUGIAA HAPR 4 G @R AW | 142, F AoA1 Iiead i gfowaar & ¥4 4, HN

(The Last Supper)’%lﬁi’l o o 2 IR G § Jo A (plan allocation)
(a) Wﬁiﬁa@?ﬁ (Michelangelo) feper crerandfar o & Iwam o 2
(b) @H‘Iﬁ?ﬁ (Donatello) (a) gradi 'qaa'ﬂq zﬁq:n

(c) wIfg=d (Botticelli)

. (b) T GEEHTE A
(d) fo=mmEr 21 =it (Leonardo da Vinci)

(¢) YIH Y=asi FrsEl

139, e 3 @ fra e e 3 Ay || (@ To e e
R fosig wE & 2
(a) dreht f& T (Vasco da Gama)
(b) wrgTEg fearst (Bartholomew Diaz)

(¢) WTEH (Magellan)

143. UN COP-27 firat-amieH frad gafia 8 2

(a) ®Eh TG

(b) HTaHATE 3N ATdhare-fAuy

(counter-terrorism)

(d) &9 BId (Hernén Cortés)

(c) Wﬂqﬁaﬁq
140. via ¥ Frafefaa § & g am & fee Fawr e
st 1 geerhr gfemnd @eft 7 # 2 o
(a) HEA
b Ro
(b) gli( par) 144. YRG ¥ IRGE & $ Frefafea seenfodt §
® 3 firw 9 R F o I F W w_
(d) ¥|IU QAT §d Ha9 (earliest known association)
a1 ?
141. Iz i Gy Frafafiga § @ fFa gg % wam
e b
(a) WM 3re-adl Ig (b) TR
) feda et
i 3s (c) fams
(c) W‘W%
(d) ATE-HUST TG () - e
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138. Which Renaissance artist painted ‘The Last | 142. Plan allocation in agriculture and irrigation

Supper’ ? as percentage of total plan outlay was highest
(a) Michelangelo T
(b) Donatello (a) Seventh Five-Year Plan

(¢) Botticelli (b) Third Five-Year Plan

(d) Leonardo da Vinci
(¢) First Five-Year Plan

139. Which one of the following European explorer ()" Peem i Toar Tlan
conquered Mexico ?

(a) Vascoda Gama

(b)  Bartholomew Diaz 143. The UN COP-27 Summit relates to :

(c) Magellan

(a) Russia-Ukraine war
(d) Hernan Cortés

(b) Terrorism and counter-terrorism

140. Near which one of the following cities in India (¢) Climate change
have large statues of Kushana rulers been
discovered ? (d)  Interpol
(a) Karnal
(b) Ropar
e 144. Which one of the following tribes from India’s
North-East had the earliest known
(d) Mathura association with cultivation and production of
tea ?
141. The Treaty of Yandabo was concluded as part
of which one of the following wars ? (a) Khasis
(a) First Anglo-Burmese War G Gars

(b) Second Anglo-Burmese War

(c) Singphos
(¢) Anglo-Kuki War

(d) Anglo-Maratha War (d) Jayantias
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145, Frafafea # @ frg dfaum-gsiam g, g«

146.

Fdedl  FeEUd IgEOE 51F H WRA *
dfqum o a7a-zfya fean w2

Hfqam (424t Fengw) sfufem
Tfaum (44af gengE) afafm
Hfqum (859t |umeA) rfufem
Hfaam (92af wemngw) stfufram

(a)
(b)
(c)

(d)

fraffea d a R s e 8 2

(a) <gHT W Yeaft Hl Tocd &, geat T =g
% Tocd 91 | 31U 2 |

(b) Yot W HgHT T Toed a9, =AgHT W gt

% Tocd 9 ° AUF B |

HgHl W ye @1 Teed we 3N gt W
T HT Tocd I TRATT H FOEK § 3R
u A fem H |

g W gt 1 o g9 MR geft W
g1 1 Tocd ol RATO § FUS & g
Tt foamati 7 2

(c)

(d)

147. T foga w9 220v 3R 80w % w9 H

ASGT-F-ENG

wfAuifd (rated) B | 99 T 110 V W v=Tfera
fora St %, at wifer dfufor (power rating)
1 B 2

(a) 8SOW
(b) 60W
(¢ 40W

d 20W

148. T% FYRY &id % U5H g0 W@d THW &

149.

yehioi #, frefefeaa 4 @ $a wd 2 2

(a) W YW ey it fa=fda g 2,
wifs frsm & @@ wewm H oI«
sifrman gt 2

Hien vom TR fte fefaa B g,
it fosw o S weprw it = rftreraw
Bt 8

A v gl At fefaa g R,
wife s # &er w91 =Fad
Bl B

fren yHw TR e fEfra @ 2,
wife frow & fidt b H w1@ ~FAw
Bt

(b)

(c)

(d)

feu M mem # @ f @@ & fou fefafea
HHHHH T R ?

o¥ff srgfdl W A i = qEE S
&l

IER Aol W €@l =T ITuEHd
e greft 2

IA® ARl W Al hi = sHETRd
A il

IER TR W @ FH TN nEHa
%A Bt @

(a)

(b)

(c)

(d)

150. Fr=fafea 4 @ frm gl (Scfiepm) & Faa

(38-A)

T4 Ed & 2
(a) ﬂ?ﬁﬁﬁ'ﬂ@?
(b) A A

() =gt gl
(@) TP (Schmidt) g



145. By which one of the following amendments,
was Article 51A, relating to the Fundamental
Duties, inserted into the Constitution of
India ?

(a) The Constitution (42°¢ Amendment) Act

(b) The Constitution (44" Amendment) Act

(¢) The Constitution {85th Amendment) Act

(d) The Constitution (92"¢ Amendment) Act

146. Which one of the following statements is
true ?

(a) The force of gravity of the Earth on the
Moon is greater than the force of gravity
of the Moon on the Earth.

(b) The force of gravity of the Moon on the
Earth is greater than the force of
gravity of the Earth on the Moon.

(¢) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude and are in the same
direction.

(d) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude but are in opposite
directions.

147. An electric bulb is rated as 220 V and 80 W.
When it is operated on 110V, the power
rating would be :

(a) 8O0W

(b) 60W

(c) 40W

d 20W

ASGT-F-ENG

148.

149.

150.

(39-A)

In the dispersion of white light by a common
glass prism, which one among the following is
correct ?

(a) Red light deviates the most because red

light has highest speed in prism

(b) Blue light deviates the most because
blue light has highest speed in prism

(¢) Red light deviates the most because red
light has lowest speed in prism

(d) Blue light deviates the most because

blue light has lowest speed in prism

Which one among the following is true for the
speed of sound in a given medium ?

(a)

Speed of sound remains same at all

frequencies

(b) Speed of sound is faster at higher
frequencies

(¢) Speed of sound is slower at higher
frequencies

(d) Speed of sound is slower at higher

wavelengths

Which one of the following telescopes contains
only mirrors ?

(a) Galilean telescope
(b) Keplerian telescope
(c) Newtonian telescope
(d) Schmidt telescope
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